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��� ���� �	
��
� F(z) := u(z) + iŭ(z)� �� u(z) � �	������

�
� �
C �	
��
�� �����

�
� � ������	 ����
 ����� z = 0, u(0) = 0� � ŭ(z) �
������
� �� u(z)� � ����

�� 
���
�


���� �������������� T (r, u) ����
�
��

�� ���	�
� ����
�
�
�
�  	�!� |ck(r,F)|� 0 < r < +∞� k ∈ Z" �
�#
���
� 
����
�$	��

 ��

�� q#� 

������%
�� ��������� �����

� mq(r,F)�
0 < r < +∞� 1 � q < +∞" ��

�
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�� ������ 	 
��
�� ����� � ��
���
���� ������� �������� ��
��
����� ��
� ��
����� ����
����� �� ��! mq(r, log |f |) (q � 1) �� ��
�"
� ��#���� 
���� 	 $�% & ���

���# $'%( $)%* � 
�
����� mq(r, log |f |) (q � 1) +� ��� �
�
�
�� ����#���
� ��
���
�,
��� ������� f  � ������ ��
���
���� ������� ����-������ λ,
�+��

�� .���/ � �� 0�� $�% /���1�� � +������ ����� ��+���+1����� ������ /��
��
��� 
�
�-��� ��
� ��� m2(r, log |f |) ��
���
���� � C ������� f � 
�
����� ������
������������� ��
��
�
��
��� T (r, f)

m2(r, log |f |) � T (R, f)

{
1 +

8
√
2√

log(R/r)

}
, 0 < r < R. &�*

2" ������ 3� 45�6 � $�% /��
�������  � ���-���! 
�/+� ��� ����� �����
�-���
������� � � ���-���� �
�/�� �
�� 
���( �� .���/ � �� 0�� $�% /�/��-���( 7� / &�*
��+����8 
���9  �!  ��������� α > 1/2 &��� ��  �! α = 1/2*

lim inf
r→+∞

m2(r, log |f |)
T (r, f){logT (r, f)}α = 0.
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'( ������� �	
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���� ������� ��������

��! ����� ������� f(z) �≡ 65:;< � α > 1 &��� ��  �! α = 1* +
�������" 8
����+
�
�-�� 
�����
� & ��� $=%( 
��
��� ��>*

lim inf
r→+∞

logM(r, f)

T (r, f){logT (r, f)}α = 0.

?�7� # f(z) �= 0 � C( 
� 
��
��� ��> / $=% /���1�8
��! +
�������" +
� α > 1/2�
@
��
���! �� ��1��� ��
��
�
��
�� T (r, f) � logM(r, f)  �! ����� ������� ��,

����-������ +�
! ��  ���� #����� � $�%( $>%( $A%� @��
���( � $>%  ��� ��� 
���9 !�7�
ϕ(x) /
��
�"-�  � �
�� ������! +
� x ≥ x0 > 0 
���( 7�

+∞∫
x0

d x

ϕ(x)
< +∞,


�

lim inf
r→+∞

logM(r, f)

T (r, f)ϕ(logT (r, f))
= 0.

	 $A%  ��� ���( 7�
logM(r, f) = o(T (r, f)ϕ(logT (r, f))) &'*

+
� r → +∞ /���� ���#��� ����
����-��� 7������
� �����
	 $�B%  ��� ���( 7�  �! ��#��� ������#���� /��
�� �����
�������� ������� u �

Rm, m � 2, +
� 1 � q � +∞ � �� �,!��� α > (m− 1)/q′( 1/q + 1/q′ = 1( ������8
��!

lim
E ��r→+∞

mq(r, u
+)

T (r, u){logT (r, u)}α = 0,

 � E C ���#��� ����-����� ����
����-��� ��
�� � ����� 
�/� �
��� (m − 1)/q′ ��
��#�� /�����
� �� ���1�� ?�7� # w C δ,�����
������� � C ������!( w(0) = 0(
1 � q < +∞( 
�  �! �� �,!���� α > 1/q′ ������8
��! &$��%*

lim
E ��r→+∞

mq(r, w)

T (r, w){logT (r, w)}α = 0.

D�
 E C ���#��� ����-����� ����
����-��� ��
��
� $�'% �� +� �
��� ��
� � 
! �� E�
F8  �! +������ ����
���� ��
���
���� � C

������� f � 
�
����� ������������� ��
��
�
��
��� T (r, f) /��� ��� ��+���+1�����
������ ��
��
������ ��
� ��� mq(r, log f), (1 � q < +∞) � +� ��� ������ ��
��
���,
��� �� ���� ��+�
�
����
� +����� ����
����� 
���� ��������

	 ��� �
�

�( G
��
�"-��� �� 
�/���
�
�� $�)%( 
�/���
�
� / $�%( $�B%( $��%( $�'%
+�1�
��� � �
�-���� �� ��+� �� ������� F = u+ iŭ(  � u C  ������� �����
�������
� C������!( ��
������� �  �!���� ����� ���!( u(0) = 0( � ŭ C �+
!#���  � u������!�
H����� �� +� �8�� � 
�
����� ������� T ((1 + ε(r))2r, u)(  � T (r, u) C ������������
��
��
�
��
��� u( � ε(r) C  ������� ��/
��
�"-� �� (0,+∞) ������!( 0 < ε(r) � 1
� ε(0) = 1( 7�( �� ��1 +���! ( 8 ��

8���( ���� ������! T (r, u) ��8 ������-�����
+�
! �� � 
�/������ I��! & ��� $��%*�

�� 	
��
���� �� ��������� ����������� � $�)% ��� ��� +��!

! �������
ŭ( �+
!#����  � �����
�������� ������� u � /�
����� �
������ +�-�
�� ���
 ���

�����
�J /��� ��� /��
�#���! 
� ���-���  �!�� ����
����
� 
���� �������( /��
���(
+���/���( 7� � ��+� ��( ���� u = log |f |, f C ������
���( �+
!#��� ŭ  � u 8  �!��"
�����" KLM f �
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?�7� z ∈ C, a �= 0, t � 1( 
� +
������

l(z, a) =

⎧⎨⎩
∫ z

0 (ζ − a)−1d ζ, z �= ta;

log
∣∣∣1− z

a

∣∣∣+ i π, z = ta.

N��� �8��( 7� ���#��� G � C ��/���8
��! /�
����" ���#���" �
������ +�,
-�
�� ���
 ���
( !�7� 
�/�� / 
�-��" z ���� ���
�
� �� 
�/�� [0, z] ⊂ C� O�
�/ Eo

+�/��-�
����� ���

�1���
� ���#��� E�
N���� u �����
������� ������! � �����
� G, μ[u] C �� ��
� P���( 0 �∈ ;QRR μ[u](

 � ;QRR μ[u] C ����� ��
� μ[u]� @� 
��
���" P��� +
� /��
�#���! &  ���( ��+
���� (
$��%*  �!  �������� ���+��
��� +� ���#��� K ⊂ G / ��+�
�#���" ���

�1���
" Ko

�  �������� 
�-�� z ∈ Ko( ������8
��!

u(z) = hK(z) +

∫
K

log
∣∣∣1− z

a

∣∣∣ dμa[u],

 � ������! hK ��
������� � Ko�

	
��
���� �� ����. G * /��012� 134�5�6 2 C, u * 5738���19�.9� 2 G :790;��<
u(0) = 0, 0 �∈ ;QRR μ[u]	 �'��=�9� :790;�� ŭ >1 u 2 G 2&/9�?�@�65� 5'�22�>91A�9�
9��

ŭ(z) = h̃K(z) +

∫
K

Im{l(z, a)} dμa[u],

>� K * 01�'�0�9� '�>�91=&9� 2 G �/ /��0121B 297���A9�5�B Ko, h̃K * 8���19�.91

5'��=�9� >1 hK 2 Ko :790;��< h̃K(0) = 0	

N���� Dt = {z ∈ C : |z| < t}, t > 0, G = DR0 , R0 � +∞� ��!  ��������
z, a ∈ DR, a �= 0, 0 < R < R0 +
������

lR(z, a) = l(z, a)− l(z,R2/ā).

N���� u �����
������� ������! � DR0 , u(0) = 0, 0 �∈ suppμ[u], 0 < R < R0� 	
$�)%  ��� ��� 
��� �/���������! ��
���� 0��
��

F(z) := u(z) + iŭ(z) =
1

2π

2π∫
0

u(Reiθ)
Reiθ + z

Reiθ − z
d θ+

+

∫
|a|�R

lR(z, a) dμa[u] +

∫
|a|�R

log
|a|
R
dμa[u]. &)*

I
������

ck(r,F) =
1

2π

2π∫
0

e−ikθF(reiθ) dθ, k ∈ Z;

mq(r,F) =

(
1

2π

2π∫
0

|F(reiθ)|q dθ
)1/q

, q � 1;



@A ������� �	
��
���� ������� ��������

T (r, u) =
1

2π

2π∫
0

u+(reiθ) dθ, N(r, u) =

r∫
0

∫
|a|�t

dμa[u]
d t

t
, r > 0.

I
������� 
��� �����

���� �� $�=% ����. u * 5738���19�.9� :790;�� 2 DR< 0 /∈ supp μ[u]< u(0) = 0<
0 < r < R< k ∈ N	 �1>�

c0(r, u) = N(r, u), &�*

ck(r, u) =
1

2
γkr

k +
1

2

r∫
0

((r
t

)k
+
( t
r

)k)nk(t, u)

t
dt, &�*

c−k(r, u) = ck(r, u), &=*

>�

ck(r, u) =
1

2π

2π∫
0

e−ikθu(reiθ) d θ, nk(r, u) =

∫
|a|�r

(
a

|a|
)k

dμa[u], γk =
1

k!

dk

dzk
F(z)

∣∣∣
z=0

.

���� �� $�)% ����. u * 5738���19�.9� :790;�� 2 DR< 0 /∈ supp μ[u]< u(0) = 0<
0 < r < R< k ∈ N	 �1>�

c0(r,F) = N(r, u), &�*

ck(r,F) = γkr
k +

r∫
0

(r
t

)k nk(t, u)

t
dt, &>*

c−k(r,F) =

r∫
0

( t
r

)k n−k(t, u)

t
dt. &A*

.� 3� S� �� $��% +��
���� � �� +��� ���
�  �������� �����
�������� ������� u(z)
������"

q(z) =
1

2π

2π∫
0

u(Reiθ)
2Reiθ

(Reiθ − z)2
d θ +

∫
|a|<R

R2 − |a|2
(z − a)(R2 − āz)

dμa[u], 0 < |z| < R. &�B*

@����#��� 
���9 !�7� u = log |f |(  � f C ���� ������!( 
� q = f ′/f �

���� �� ����. 0 < r1 < r2 < R < +∞< σ > 1	 ����. ��01= u * 5738���19�.9�
:790;�� 2 DσR< u(0) = 0C E(t) (t ∈ [r1, r2]) * 2&���9� '�>�91=&9� [0, 2π]< ���� �01D
9� '���2&E7@ η< 0 < η � 2π	 �1>�

r2∫
r1

dt

∫
E(t)

|q(teiθ)| dθ � 4

(
(r2 − r1) η R

(R− r2)2
+

√
2πσ

σ − 1
ψ (r1, r2; η)

)
T (σR, u), &��*

>�

ψ(r1, r2; η) =
r2 − r1
r1

log

(
1 +

r1η

r2 − r1

)
+ η log

(
1 +

r2 − r1
r1η

)
,

� q(reiθ) 1/9�?�9� 5'�22�>91A�99�� F��G< '�& 0 < r < R< θ ∈ [0, 2π]	
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H12�>�99�	 ���� ���! ��8� ���� +
��� ��� /� �����"( ���/���"  � /�+
�+��������
 �!  ��� ���! 
��
��� � / $�>%� N���� 0 < r < R < +∞, |a| < R� D� �( /��#�"-� ��
&�B*( � �
#�8��

∣∣∣q(z)∣∣∣ � 1

2π

2π∫
0

∣∣u(Reiθ)∣∣ 2R

|R− |z||2 dθ +
∫

|a|<R

∣∣∣∣ R2 − |a|2
(z − a)(R2 − az)

∣∣∣∣ dμa[u].

@����#���( 7�

1

2π

2π∫
0

∣∣∣u(Reiθ)∣∣∣ dθ = 1

2π

2π∫
0

(
2u+(Reiθ)− u(Reiθ)

)
dθ � 2T (R, u),

�( 
���# | R2−|a|2
(R2−az)(z−a) | � 2

|z−a| +
� |a| < R� D���

|q(z)| � 4RT (R, u)

(R− |z|)2 + 2

∫
|a|<R

dμa[u]

|z − a| .

	
�����"-� ���� ��' / &$�A%( 6� �'*( �

���8�� &t ∈ [r1, r2]*

∫
E(t)

∣∣∣q(teiθ)∣∣∣ dθ � 4RηT (R, u)

(R − t)2
+ 4

∫
|a|<R

η/2∫
0

dφ

|teiφ − |a|| dμa[u]. &�'*

	 $�>%  ��� ���( 7�  �! ���� a( 0 < |a| < R +
������� ������

η/2∫
0

dφ

|teiφ − |a|| �
π
√
2

r1
log

(
1 +

r1η

2|t− |a||
)
.

H
#�(

r2∫
r1

dt

η/2∫
0

dφ

|teiφ − |a|| �
π
√
2

r1

r2∫
r1

log

(
1 +

r1η

2|t− |a||
)
dt.

P�/��!���� �+�-�
�� ��+� �� |a| ∈ [r1, r2]� D� �

π
√
2

r1

r2∫
r1

log

(
1 +

r1η

2|t− |a||
)
dt =

π
√
2

r1

( |a|−r1∫
0

log
(
1 +

r1η

2x

)
dx+

r2−|a|∫
0

log
(
1 +

r1η

2x

)
dx

)
.

I�/��-��� k = min{|a| − r1, r2 − |a|},K = max{|a| − r1, r2 − |a|}� @����#���( 7�
k +K = r2 − r1� @�� �� K = r2 − r1 − k = r2−r1

2 + r2−r1
2 − k �( 
���(

π
√
2

r1

r2∫
r1

log

(
1+

+

r1η
2|t− |a||

)
dt =

π
√
2

r1

(
2

k∫
0

log

(
1+

r1η

2x

)
dx+

K∫
k

log

(
1+

r1η

2x

)
dx

)
=



@C ������� �	
��
���� ������� ��������

=
π
√
2

r1

(
2

k∫
0

log

(
1 +

r1η

2x

)
dx+

r2−r1
2∫

k

log

(
1 +

r1η

2x

)
dx+

K∫
r2−r1

2

log

(
1 +

r1η

2x

)
dx

)
.

H������� ������! log(1+ r1η
2x ) ����
���� �+� �� �� (0,+∞)( � K− r2−r1

2 = r2−r1
2 −k(


�
K∫

r2−r1
2

log
(
1 +

r1η

2x

)
dx �

r2−r1
2∫

k

log
(
1 +

r1η

2x

)
dx.

D� �

π
√
2

r1

r2∫
r1

log

(
1 +

r1η

2|t− |a||
)
dt � π

√
2

r1

(
2

k∫
0

log
(
1 +

r1η

2x

)
dx+

+2

r2−r1
2∫

k

log
(
1 +

r1η

2x

)
dx

)
=
π
√
2

r1

r2∫
r1

log

(
1 +

r1η

2|t− r2+r1
2 |

)
dt.

��! ��+� ��( ���� |a| /∈ [r1, r2] ��#�� +
����
� �������-�� ��
������!� @��
�,
����"-� /���� ���� ��' / $�A%( �

���8��

r2∫
r1

dt

η/2∫
0

dφ

|teiφ − |a|| �
2
√
2π

r1

(r2−r1)/2∫
0

log
(
1 +

r1η

2t

)
dt =

=
√
2π

(
r2 − r1
r1

log

(
1 +

r1η

r2 − r1

)
+ η log

(
1 +

r2 − r1
r1η

))
=

√
2 π ψ(r1, r2; η). &�)*

@ &�'* � &�)* ��+����8( 7�
r2∫

r1

dt

∫
E(t)

∣∣∣q(teiθ)∣∣∣ dθ � 4(r2 − r1) η RT (R, u)

(R− r2)2
+ 2

√
2πψ(r1, r2; η)n(R, u) �

� 4(r2 − r1) η RT (R, u)

(R − r2)2
+

4
√
2πσT (σR, u)

σ − 1
ψ(r1, r2; η) �

� 4

(
(r2 − r1) η R

(R − r2)2
+

√
2πσ

σ − 1
ψ(r1, r2; η)

)
T (σR, u),

/�� �� � 
�/� ��+����8 &��*� �

�� 	������ ��
��������

������� �� ����. u * 5738���19�.9� 2 D4r :790;��< u(0) = 0, 0 < r < +∞<
γ(r) = 1+ε(r)< 0 < ε(r) � 1, ε(r) * 9�/�15��B?� :790;�� 9� (0,+∞), ε(0) = 1	 �1>�
>4� 25�� k ∈ Z \ {0}

|ck(r,F)| � 4T (γ2(r)r, u)

(
1

γ|k|(r)
+

1− γ−|k|(r)
|k| ε(r)

)
. &��*
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H12�>�99�	 @��
���!"-� &>* 
� &�*( � �
#���

ck(r,F) = 2ck(r, u)−
r∫

0

( t
r

)k nk(t, u)

t
dt.

@�� ��

|ck(r,F)| � |2ck(r, u)|+
r∫

0

( t
r

)k n(t, u)
t

dt � 1

π

2π∫
0

|u(reiθ)| dθ +N(r, u) =

= 4T (r, u)− 2N(r, u) +N(r, u) = 4T (r, u)−N(r, u) � 4T (r, u). &��*

@ �
�������!� �+���� ��1���

ck(r,F)− ck(γ(r)r,F)

γk(r)
= γkr

k +

r∫
0

(r
t

)k nk(t, u)

t
dt− γk

γk(r)
· γk(r)−

− 1

γk(r)

γ(r)r∫
0

(
γ(r)r

t

)k
nk(t, u)

t
dt =

γ(r)r∫
r

(r
t

)k nk(t, u)

t
dt


� ��
�����
�� &��* � N(r, u) � T (r, u)( � �
#���

∣∣∣ck(r,F)
∣∣∣ � ∣∣∣∣ck(γ(r)r,F)

γk(r)

∣∣∣∣+
∣∣∣∣∣∣∣
γ(r)r∫
r

(r
t

)knk(t, u)

t
dt

∣∣∣∣∣∣∣ �
4T (γ2(r)r, u)

γk(r)
+

+n(γ(r)r, u)rk
γ(r)r∫
r

dt

tk+1
=

4T (γ2(r)r, u)

γk(r)
+
n(γ(r)r, u)

k
(1− γ−k(r)).

H�������

ε(r)n(γ(r)r, u)

γ(r)
� n(γ(r)r, u) log γ(r) � N(γ2(r)r, u) � T (γ2(r)r, u),


� ��
���! ��
�����
� ���� � ����! �∣∣∣ck(r,F)
∣∣∣ � 4T (γ2(r)r, u)

γk(r)
+ (1− γ−k(r))

2T (γ2(r)r, u)

k ε(r)
�

� 4T (γ2(r)r, u)

(
1

γk(r)
+

1− γ−k(r)

k ε(r)

)
.

N���� 
�+�
 k � −1� @ ���! � �� �+���� ��1���! &A* �

���8��

|ck(r,F)| =
∣∣∣∣∣∣

r∫
0

( t
r

)|k|nk(t, u)

t
dt

∣∣∣∣∣∣ �
r∫

0

( t
r

)|k|n(t, u)
t

dt � N(r, u).

	
�����"-� �+���� ��1���!

ck(r,F)− γ−|k|(r)ck(r/γ(r),F) =

r∫
0

( t
r

)|k|nk(t, u)

t
dt−



@' ������� �	
��
���� ������� ��������

− 1

γ|k|(r)

r/γ(r)∫
0

(
γ(r)t

r

)|k|
nk(t, u)

t
dt =

r∫
r/γ(r)

( t
r

)|k| nk(t, u)

t
dt,

�������-��( !� � � +�+�
� ����� ��+� ��( � �
#�8��

|ck(r,F)| �
∣∣∣∣∣∣
ck

(
r

γ(r) ,F
)

γ|k|(r)

∣∣∣∣∣∣+
∣∣∣∣∣∣∣

r∫
r/γ(r)

(
t

r

)|k|
nk(t, u)

t
dt

∣∣∣∣∣∣∣ �
N
(

r
γ(r) , u

)
γ|k|(r)

+

+
n(r, u)

r|k|

r∫
r/γ(r)

t|k|−1 dt �
N
(

r
γ(r) , u

)
γ|k|(r)

+
n(r, u)

|k|
(
1− 1

γ|k|(r)

)
�

� 2N(γ(r)r, u)

(
1

γ|k|(r)
+

1− γ−|k|(r)
|k| ε(r)

)
� 4T (γ2(r)r, u)

(
1

γ|k|(r)
+

1− γ−|k|(r)
|k| ε(r)

)
.

D��
��� �  ��� ���� �

������� �� ����. 0 < r < +∞< 0 < ε(r) � 1< ε(r) * 9�/�15��B?� 9� (0,+∞)
:790;��< ε(0) = 1< γ(r) = 1 + ε(r)< u * 5738���19�.9� 2 D4r :790;��< u(0) = 0	 �1>�

mq(r,F) � A(q)
T (γ2(r)r, u)

q
√
ε(r)

, 1 � q � 2,

mq(r,F) � A(q)
q
√
ε(r) T (γ2(r)r, u)

ε(r)
, 2 � q < +∞;

>� A(q) = 17 · 21−1/q '�& 1 � q � 2 � A(q) = 17 q1−1/q '�& 2 � q < +∞	

H12�>�99�	 S+�-�
�� 
�/��!���� ��+� �� q = 1� H�������

Reiθ + z

Reiθ − z
=

2z

Reiθ − z
+ 1,


� / �/���������� ��
���� 0��
�� &)* �

���8��

F(z) =
1

2π

2π∫
0

u(Reiθ)
2z

Reiθ − z
dθ +

∫
|a|�R

log
R2(a− z)

a(R2 − az)
dμa[u],

/�� �� +
� R = γ(r)r

m1(r,F) =
1

2π

2π∫
0

|F(reiϕ)| dϕ � 1

2π

2π∫
0

⎛⎝ 1

2π

2π∫
0

∣∣u(Reiθ)∣∣ ∣∣∣∣ 2reiϕ

Reiθ − reiϕ

∣∣∣∣ dθ
⎞⎠ dϕ+

+
1

2π

2π∫
0

∣∣∣∣∣
∫

|a|�R

log
R2(a− reiϕ)

a(R2 − areiϕ)
dμa[u]

∣∣∣∣∣ dϕ � 4r

R − r
T (R, u)+

+
1

2π

2π∫
0

∣∣∣∣∣
∫

|a|�R

log
R2(a− reiϕ)

a(R2 − areiϕ)
dμa[u]

∣∣∣∣∣ dϕ �
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� 4T (γ(r)r, u)

ε(r)
+

1

2π

2π∫
0

∣∣∣∣∣
∫

|a|�R

log
R2(a− reiϕ)

a(R2 − areiϕ)
dμa[u]

∣∣∣∣∣ dϕ. &�=*

H������ 
�+�


2π∫
0

∣∣∣∣∣∣∣
∫

|a|�R

log
R2(a− reiϕ)

a(R2 − areiϕ)
dμa[u]

∣∣∣∣∣∣∣
dϕ

2π
�

∫
|a|�R

dμa[u]

2π∫
0

dϕ

2π

r∫
0

(R2 − |a|2) dt
|teiϕ − |a||(R2 − r|a|) .

� �
�

� $�'% & ���  ��� ���! 
��
��� '( ���)*  ��� ���( 7�

1

2π

2π∫
0

dϕ

r∫
0

dt

|teiϕ − |a|| � log
r

|a| + log(2e2) (|a| � r), &��*

1

2π

2π∫
0

dϕ

r∫
0

dt

|teiϕ − |a|| � log(2e2) (r < |a|). &�>*

����( �
�����"-� &��* 
� &�>*( � �
#���∫
|a|�R

dμa[u]

2π∫
0

dϕ

2π

r∫
0

(R2 − |a|2) dt
|teiϕ − |a||(R2 − r|a|) �

�
r∫

0

R2 − x2

R2 − rx

(
log

r

x
+ log(2e2)

)
dn(x, u) + log(2e2)

R∫
r

R2 − x2

R2 − rx
dn(x, u) �

� 2

r∫
0

log
( r
x

)
dn(x, u) + log(2e2)

R∫
0

R2 − x2

R2 − rx
dn(x, u) � 2N(r, u)+

+ log(2e2)

⎛⎝R2 − x2

R2 − rx
n(x, u)

∣∣∣∣∣
R

0

+

R∫
0

2R2x− rR2 − rx2

(R2 − rx)2
n(x, u) dx

⎞⎠ � 2N(r, u)+

+2 log(2e2)
R

R− r

R∫
0

n(x, u)

x
dx � 2N(r, u) + 4 log(2e2)

N(γ2(r)r, u)

ε(r)
.

I� �
����1� �" ��
�����
� � &�=* 
� �
������1�( 7� N(γ2(r)r, u) � T (γ2(r)r, u)(
� �
#���

m1(r,F) � 17T (γ2(r)r, u)

ε(r)
. &�A*

N���� 
�+�
 q ∈ [2,+∞)� I
������ p = q/(q − 1)� @��
������1� ��
�����
�
T��� �
��,U��� 
� .�����������( � �
#�8��

mq(r,F) �
(

+∞∑
k=−∞

|ck(r,F)|p
)1/p

� |c0(r,F)|+



@E ������� �	
��
���� ������� ��������

+

(
+∞∑
k=1

|ck(r,F)|p
)1/p

+

( −1∑
k=−∞

|ck(r,F)|p
)1/p

. &'B*

.�8��

c0(r,F) = N(r, u) � T (r, u) � T (γ2(r)r, u). &'�*

���� / �
�������!� &��* 
� ��
�����
� .����������� � �
#���(+∞∑
k=1

|ck(r,F)|p
)1/p

� 4T (γ2(r)r, u)

((+∞∑
k=1

γ−pk(r)

)1/p

+
1

ε(r)

(+∞∑
k=1

(1− γ−k(r)

k

)p) 1
p
)
.

H�������
+∞∑
k=1

γ−pk(r) =
1

γp(r) − 1
� 1

p ε(r)
� q

ε(r)
,

� 
���#

+∞∑
k=1

(1− γ−k(r)

k

)p
�

+∞∫
1

(1− e−t log γ(r)

t

)p
dt = (log γ(r))p−1×

×
+∞∫

log γ(r)

(1− e−x

x

)p
dx � εp−1(r)

1∫
0

(1− e−x

x

)p
dx+

+εp−1(r)

+∞∫
1

(1− e−x

x

)p
dx � q εp−1(r),


� �

���8�� ��
�����
�(
+∞∑
k=1

|ck(r,F)|p
)1/p

� 8 q1−1/q T (γ2(r)r, u)

(ε(r))1−1/q
. &''*

	
�����"-� &��*( !� � � +�+�
� ����� ��+� ��( � �
#���( −1∑
k=−∞

|ck(r,F)|p
)1/p

� 8 q1−1/qT (γ2(r)r, u)

(ε(r))1−1/q
. &')*

I� �
����1� &'�*,&')* � &'B*( �

���8��

mq(r,F) � 17

(
q

ε(r)

)1−1/q

T (γ2(r)r, u), 2 � q < +∞. &'�*

@
�1
�"( ����� 1 � q � 2. D� � 
��
 #���! 
��
��� �B��' / $'B%

mq(r,F) �
(
m1(r,F)

)(2−q)/q(
m2(r,F)

)2(1−1/q)

� ��
�����
� &�A* 
� &'�* ������� +
��� !
� ���  � +�

������ 
�/���
�
�� �



)*+,-./01*) 2,.,�*)  3*45)6� 27.89,*:; �< 23=-/.><*)6*:; &&& @F

���� �� ����. 0 < r1 < +∞< r2 = γ(r1)r1< R = γ(r2)r2< >� γ(t) = 1 + ε(t)<
0 < ε(t) � 1< ε(t) * 9�/�15��B?� :790;�� 9� (0,+∞), ε(0) = 1	 ����. u * 573�

8���19�.9� :790;�� 2 D8r1 < u(0) = 0	 �1>� >4� >12�469181 k �= 0∣∣∣ck(r2,F)− ck(r1,F)
∣∣∣ � (

1− γ−|k|(r1)
) 7T (γ(r1)γ

2(r2)r1, u)

|k| ε(r2) ,

∣∣∣c0(r2,F)− c0(r1,F)
∣∣∣ � ε(r1)T (γ(r1)γ

2(r2)r1, u)

ε(r2)
.

H12�>�99�	 N���� k ∈ N� @� �+���� ��1��� &>* � �
#�8��

ck(r2,F)− ck(r1,F) = γkr
k
2 +

r2∫
0

(r2
t

)k nk(t, u)

t
dt− γkr

k
1 −

r1∫
0

(r1
t

)k nk(t, u)

t
dt =

= γkr
k
2 (1 − γ−k(r1)) + (1− γ−k(r1))

r2∫
0

(r2
t

)knk(t, u)

t
dt+

r2∫
r1

(r1
t

)k nk(t, u)

t
dt,


��� ∣∣∣ck(r2,F)− ck(r1,F)
∣∣∣ � (1− γ−k(r1))|ck(r2,F)|+

r2∫
r1

(r1
t

)k n(t, u)
t

dt �

� (1 − γ−k(r1))|ck(r2,F)|+ (1− γ−k(r1))
n(r2, u)

k
=

= (1− γ−k(r1))
(
|ck(r2,F)|+ n(r2, u)

k

)
. &'�*

@ �
�������!� ��
�����
��

2ε(r2)n(r2, u)

γ(r2)
� 2n(r2, u) log γ(r2) � N(γ2(r2)r2, u) � T (γ(r1)γ

2(r2)r1, u),


���# �+���� ��1��� &��* 
� &'�*( ��8��

|ck(r2,F)− ck(r1,F)| �
(
1− γ−|k|(r1)

)( 6T (γ(r1)γ
2(r2)r1, u)

k ε(r2)
+

+
T (γ(r1)γ

2(r2)r1, u)

k ε(r2)

)
=
(
1− γ−|k|(r1)

) 7T (γ(r1)γ
2(r2)r1, u)

k ε(r2)
.

��! k � −1 /� �+���� ��1��� &A* � �
#�8��

ck(r2,F)− ck(r1,F) = ck(r2,F)− γk(r1)ck(r1,F)−

−(1− γk(r1)) ck(r1,F) =

r2∫
0

( t

r2

)|k|nk(t, u)

t
dt−

r1∫
0

( t

r2

)|k|nk(t, u)

t
dt−

−(1− γk(r1))ck(r1,F) =

r2∫
r1

( t

r2

)|k|nk(t, u)

t
dt− (1− γk(r1)) ck(r1,F),



@( ������� �	
��
���� ������� ��������


���

|ck(r2,F)− ck(r1,F)| � (1− γk(r1))
(n(r2, u)

|k| + |ck(r2,F)|
)
�

�
(
1− γk(r1)

)
T (γ(r1)γ

2(r2)r1, u)

(
1

|k| ε(r2) +
3

|k| ε(r2)
)

�

�
(
1− γk(r1)

) 4T (γ(r1)γ2(r2)r1, u)
|k| ε(r2) .

N���� k = 0� D� �

|c0(r2,F)− c0(r1,F)| =
r2∫

r1

n(t, u)

t
dt � n(r2, u) log γ(r1) �

� ε(r1)γ(r2)

2 ε(r2)
N(γ2(r2)r2, u) �

ε(r1)T (γ(r1)γ
2(r2)r1, u)

ε(r2)
.

�

������� �� ����. 0 < r1 < +∞< r2 = γ(r1)r1, >� γ(t) = 1 + ε(t)< 0 < ε(t) � 1< ε(t) *

9�5'�>9� 9� (0,+∞) :790;��C u * 5738���19�.9� 2 D8r1 C u(0) = 0	 �1>�

|mq(r2,F)−mq(r1,F)| � B(q) q

√
ε(r1)

ε2(r2)
T (γ(r1)γ

2(r2)r1, u), 1 � q � 2;

|mq(r2,F)−mq(r1,F)| � B(q)
q
√
ε(r1)

ε(r2)
T (γ(r1)γ

2(r2)r1, u), 2 � q < +∞;

>� B(q) = 16 q
√
9/3 '�& 1 � q � 2 � B(q) = 8(2q)1−1/q '�& 2 � q < +∞	

H12�>�99�	 @ ��
�����
� 

���
���� ��+����8( 7�  �! p ∈ [1,+∞)

|mp(r2,F)−mp(r1,F)| �
⎧⎨⎩ 1

2π

2π∫
0

∣∣F(r2e
iθ)−F(r1e

iθ)
∣∣p dθ

⎫⎬⎭
1/p

. &'=*

N���� p = 1� D� �( / ���! � �� &��*( � �
#���

1

2π

2π∫
0

∣∣∣F(r1e
iθ)−F(r2e

iθ)
∣∣∣ dθ = 1

2π

2π∫
0

∣∣∣∣∣∣
r2∫

r1

∂F(teiθ)

∂t
d t

∣∣∣∣∣∣ dθ �
� 1

2π
dt

r2∫
r1

2π∫
0

∣∣q(teiθ)∣∣ dθ. &'�*

@��
���8��  � ������ ��
������� ��
��
��� ���� ) / E(t) = [0, 2π] (t ∈ [r1, r2])(
r2 = γ(r1)r1( R = γ(r1)γ(r2)r1 � σ = γ(r2)� D� � �+���� ��1���! &'�* ���� � ����! �

1

2π

2π∫
0

∣∣∣F(r1e
iθ)−F(r2e

iθ)
∣∣∣ dθ �
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� 4
ε(r1)

ε(r2)

(
γ(r2)

γ(r1) ε(r2)
+

γ(r2)√
2ε(r1)

(
ε(r1) log

(
1 +

2π

ε(r1)

)
+ 2π log

(
1 +

ε(r1)

2π

)))
×

×T (γ(r1)γ2(r2)r1, u) � 48
ε(r1)

ε2(r2)
T (γ(r1)γ

2(r2)r1, u). &'>*

N���� p � 2, q = p/(p−1)� D� � / �
�������!� ���� � � ��
�����
�� T��� �
��,
U��� 
� .�����������( � �
#���⎧⎨⎩ 1

2 π

2π∫
0

|F(r2e
iθ)−F(r1e

iθ)|q d θ
⎫⎬⎭

1/q

� |c0(r2,F)− c0(r1,F)|+

+

{
2

+∞∑
k=1

|ck(r2,F)− ck(r1,F)|p
}1/p

� ε(r1)T (γ(r1)γ
2(r1)r1, u)

ε(r2)
+

+
7 p
√
2T (γ(r1)γ

2(r2)r1, u)

ε(r2)

{
+∞∑
k=1

(
1− γ−k(r1)

k

)p
}1/p

. &'A*

.�8��
+∞∑
k=1

(
1− γ−k(r1)

k

)p

�
+∞∫
1

(
1− e−t log γ(r1)

t

)p

d t =

= (log γ(r1))
p−1

+∞∫
log(γ(r1))

(
1− e−x

x

)p

d x � (log γ(r1))
p−1

1∫
0

(
1− e−x

x

)p

d x+

+(log γ(r1))
p−1

+∞∫
1

(
1− e−x

x

)p

d x � q (log γ(r1))
p−1.

I� �
����1� �" ��
�����
� � &'A*( � �
#�8��⎧⎨⎩ 1

2 π

2π∫
0

|F(r2e
iθ)−F(r1e

iθ)|q d θ
⎫⎬⎭

1/q

�
(
ε(r1)
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